

NETRAID

Multi-Vendor Hardware Maintenance Contract Number FRO-000006

July 1 2017

NETRAID 225 Wimpole Drive Rochester Hills, MI 48309

Phone 1-855-638-7243 Fax 1-248-686-3355 E-mail <u>info@netraid.com</u> EIN #: 73-1702250

DUNS #: 968003421 /

CAGE #: 6CAK2



Customers AccountBilling ContactNETRAID Accounts ManagerContract StartContract StartAttention Christopher JacksonAttention Christopher JacksonAttention Matthew Langan7/1/20176/30/2018Company City of Columbus, OhioCompany City of Columbus, OhioCompany City of Columbus, OhioNETRAID

 Address
 77 N. Front Street
 Address
 77 N. Front Street

 Columbus, OH 43215
 Columbus, OH 43215

 Phone 614-645-8315
 Phone 614-645-8315

Fax Fax

un 100

Email CLJackson@columbus.gov Email CLJackson@columbus.gov

Artention Matthew Langah

Company NETRAID

Address 225 Wimpole Drive
Rochester Hills, MI 48309

Phone 1-855-638-7243 x558

Fax 1-248-686-3355

Email matt@netraid.com

Vendor (OEM)	Item, Part, Type or Model Number	Serial Number	Location	Server Name	Description	Service Level Agreement (SLA)	Coverage Start Date	Qty	MMC Unit Price	MMC Ext Price	Months	Annual Unit Cost
Multi-Vendor - Support Pricing												
HP	Proliant DL360G4	USE646N5X2	1601 ARLINGATE LANE - DATA CENTER	AR-DATARM-VSVC	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	MXQ843A4TC	1601 ARLINGATE LANE - DATA CENTER	QW1VCNTR1TR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360 G5	USE708N4VL	1601 ARLINGATE LANE - DATA CENTER	QW3TLSTAFF1AR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	MXQ752A5PR	1601 ARLINGATE LANE - DATA CENTER	MXQ752A5PR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G3	EANRLDN438	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant ML570G4	USE748N1ZK	1601 ARLINGATE LANE - DATA CENTER	QWARS171EXMBC1A	Server	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
HP	Proliant ML570G4	USE706N3P8	1601 ARLINGATE LANE - DATA CENTER	QWARS172EXMBC1B	Server	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
HP	Proliant DL360G3	EA3DLDN436	1601 ARLINGATE LANE - DATA CENTER	QWARS349ETRM	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G3	EA20LDN436	1601 ARLINGATE LANE - DATA CENTER	QWGL2213CRPD	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G3	EA5PLDN438	1601 ARLINGATE LANE - DATA CENTER	QWARS212PST	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G4	USX53200XJ	1601 ARLINGATE LANE - DATA CENTER	QWARS332FX	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G4	USE638N6X5	1601 ARLINGATE LANE - DATA CENTER	QWARS366IVRPS	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G4	USE638N6X6	1601 ARLINGATE LANE - DATA CENTER	QWARS368IVRRS	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G5	USE904N03Q	1601 ARLINGATE LANE - DATA CENTER	QWARS436PIVRTTS	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G3	USM71100GU	1601 ARLINGATE LANE - DATA CENTER	QWARS605VRMSTR1	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G4	USE514A84R	1601 ARLINGATE LANE - DATA CENTER	QWARS806CSWORKS	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G5	USE751N0L4	1601 ARLINGATE LANE - DATA CENTER	QWARS810NETFLO	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant ML570G4	JTGHRH1	1601 ARLINGATE LANE - DATA CENTER	QWARS811PMIS	Server	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
НР	Proliant DL380 G5	2UX70201WR	1601 ARLINGATE LANE - DATA CENTER	QWARSPST2	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant ML570G4	2UX62401E7	1601 ARLINGATE LANE - DATA CENTER	QWUCM375IVRSIP	Server	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
HP	9000 N4000 (WITH HP UX) RP7400	USM39333AY	1601 ARLINGATE LANE - DATA CENTER	COCN03 (SW)	Server	24x7x4	7/1/2015	1	\$195.00	\$195.00	12	\$2,340.00
HP	Integrity RX6600 (WITH HP UX)	USE47363RC	1601 ARLINGATE LANE - DATA CENTER	QUARS701	Server	24x7x4	7/1/2015	1	\$120.00	\$120.00	12	\$1,440.00
HP	Integrity RX6600 (WITH HP UX)	USE47363R8	1601 ARLINGATE LANE - DATA CENTER	QUARS702 Server-SW Tech 8	Server	7x12xNBD	7/1/2015	1	\$100.00	\$100.00	12	\$1,200.00
HP	9000 N4000 (WITH HP UX)	USM403153H	1601 ARLINGATE LANE - DATA CENTER	QUARS705 (SW)	Server	8x5xNBD	7/1/2015	1	\$165.00	\$165.00	12	\$1,980.00
HP	Proliant DL360G5	USM70104G8	1601 ARLINGATE LANE - DATA CENTER	QUARS750	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	USM701041V	1601 ARLINGATE LANE - DATA CENTER	QUARS751	Server	8x5xNBD	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360	USM73100VZ	1601 ARLINGATE LANE - DATA CENTER	QUARS752	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
НР	Proliant DL360	USM73100W4	1601 ARLINGATE LANE - DATA CENTER	QUARS753	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360	USM73100VN	1601 ARLINGATE LANE - DATA CENTER	QUARS754	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360	USM73100VV	1111 Broad St JHC	QUARS755	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360	USM73100VP	1111 Broad St JHC	QUARS756	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
НР	Proliant DL360G4P	USM54904TL	1601 ARLINGATE LANE - DATA CENTER	QUARS760	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Integrity RX6600 (WITH HP UX)	USE4934CML	1601 ARLINGATE LANE - DATA CENTER	QUARS770	Server	24x7x4	7/1/2015	1	\$120.00	\$120.00	12	\$1,440.00
HP	Integrity RX6600 (WITH HP UX)	USE4934CMM	1601 ARLINGATE LANE - DATA CENTER	QUARS771	Server	8x5xNBD	7/1/2015	1	\$95.00	\$95.00	12	\$1,140.00
Primera	CD Creator	2050800562	1601 ARLINGATE LANE - DATA CENTER		ComposerMax	24x7x4	8/1/2015	1	\$80.00	\$80.00	12	\$960.00
НР	Shelf MSA1500	SGA042900E	1601 ARLINGATE LANE - DATA CENTER		Controller Shelf:P# AA986A	24x7x4	7/1/2015	1	\$38.00	\$38.00	12	\$456.00
HP	DAT72X	000042004N	1601 ARLINGATE LANE - DATA CENTER		DAT drive	24x7x4	7/1/2015	1	\$21.00	\$21.00	12	\$252.00
НР	Array MSA1000	SGA062506A	1601 ARLINGATE LANE - DATA CENTER		Disk Array	24x7x4	7/1/2015	1	\$85.00	\$85.00	12	\$1,020.00
-	MSL6000 0	USX603004C	1601 ARLINGATE LANE - DATA CENTER		LTO3	24x7x4	7/1/2015	1	\$65.00	\$65.00	12	\$780.00
НР	MSL6000 0	USX624Z0C8	1601 ARLINGATE LANE - DATA CENTER		LTO3	24x7x4	7/1/2015	1	\$65.00	\$65.00	12	\$780.00
$\overline{}$	Enclosure MSA30	M09XLPX4C	1601 ARLINGATE LANE - DATA CENTER		MSA P#302969-B21	24x7x4	7/1/2015	1	\$30.00	\$30.00	12	\$360.00

НР	Switch A8000A	USB643WA06	1601 ARLINGATE LANE - DATA CENTER		SAN Switch	24x7x4	7/1/2015	1	\$20.00	\$20.00	12	\$240.00
Primera	CD Tabel	2050801085	1601 ARLINGATE LANE - DATA CENTER		Signature Z6 Labeler Printer	24x7x4 24x7x4	8/1/2015	1	\$20.00	\$20.00	12	\$180.00
HP	SureStore ESL322E	US50742021	1601 ARLINGATE LANE - DATA CENTER			24x7x4 24x7x4		1	\$680.00	\$680.00	12	\$8,160.00
HP HP	AD595A	HU1074615Y	1601 ARLINGATE LANE - DATA CENTER		Tape Silo Ultrium 3-SCSI L68W	24x7x4 24x7x4	7/1/2015 4/1/2016	1	\$580.00	\$20.00	12	\$8,160.00
HP	AD595A	HU10746151	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4 24x7x4	4/1/2016		\$20.00	\$20.00	12	\$240.00
HP	AD595A	HU10518N7H	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4 24x7x4		1	\$20.00	\$20.00	12	\$240.00
НР	AD595A						4/1/2016					\$240.00
HP	***	HU10801PU7	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4	4/1/2016	1	\$20.00 \$20.00	\$20.00	12	\$240.00
HP HP	AD595A	HU10728UAD	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4	4/1/2016	1	-	\$20.00	12	\$240.00
HP	AD595A AD595A	HU10538BCW	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4 24x7x4	4/1/2016	1	\$20.00	\$20.00 \$20.00	12 12	\$240.00
HP HP		HU10521TGJ	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W		4/1/2016		\$20.00			
- "	AD595A	HU10746157	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4	4/1/2016	1	\$20.00	\$20.00	12	\$240.00
HP HP	AD595A AD595A	MXP0914CLK	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4 24x7x4	4/1/2016	1	\$20.00 \$20.00	\$20.00	12	\$240.00
		HU104513W8	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	=	4/1/2016	1		\$20.00	12	\$240.00
HP	AD595A	HU1074617U	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4	4/1/2016	1	\$20.00	\$20.00	12	\$240.00
HP	AD595A	HU10736APU	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4	4/1/2016	1	\$20.00	\$20.00	12	\$240.00
HP	AD595A	HU1053530R	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4	4/1/2016	1	\$20.00	\$20.00	12	\$240.00
HP	AD595A	HU10746204	1601 ARLINGATE LANE - DATA CENTER		Ultrium 3-SCSI L68W	24x7x4	4/1/2016	1	\$20.00	\$20.00	12	\$240.00
EMC	CX700 XPE SAN CHASSIS 8GB DDR	APM00060404881	1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	1	\$165.00	\$165.00	12	\$1,980.00
EMC	40U-CAB CX700		1601 ARLINGATE LANE - DATA CENTER		Rack Cabinet - Dual Power Supplies	24x7x4	7/1/2015	1	included	included	12	included
EMC	DAE2	APM00051601849			15 Slot Enclosure (Bus 0, Enclosure 0)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 146GB 10K 2GB/S FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00060802959			15 Slot Enclosure (Bus 1, Enclosure 0)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 146GB 10K 2GB/S FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00060901031	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 2, Enclosure 0)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 146GB 10K 2GB/S FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00060900355	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 3, Enclosure 0)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 146GB 10K 2GB/S FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00060900356	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 0, Enclosure 1)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 146GB 10K 2GB/S FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00060900357	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 1, Enclosure 1)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 146GB 10K 2GB/S FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00060900358	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 2, Enclosure 1)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 146GB 10K 2GB/S FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2P	FCNST061300223	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 3, Enclosure 1)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 300GB 10K 2GB FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2		1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 0, Enclosure 2)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 300GB 10K 2GB FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2-ATA	APM00051601849	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 1, Enclosure 2)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 500GB 3.5" 7.2K 2/4Gb SATA HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00065103355	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 2, Enclosure 2)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 300GB 10K 2GB FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2-ATA	APM00085101747	1601 ARLINGATE LANE - DATA CENTER		15 Slot Enclosure (Bus 3, Enclosure 2)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 1TB 3.5" 7.2K 2/4Gb SATA HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00085100376	1601 ARLINGATE LANE - DATA CENTER		Storage Processor (Bus 0, Enclosure 3)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 300GB 10K 2GB FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00085002167	1601 ARLINGATE LANE - DATA CENTER		Storage Processor (Bus 1, Enclosure 3)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 300GB 10K 2GB FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00085202604	1601 ARLINGATE LANE - DATA CENTER		Storage Processor (Bus 2, Enclosure 3)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 300GB 10K 2GB FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC	DAE2	APM00085100377	1601 ARLINGATE LANE - DATA CENTER		Storage Processor (Bus 3, Enclosure 3)	24x7x4	7/1/2015	1	\$40.00	\$40.00	12	\$480.00
EMC	EMC 300GB 10K 2GB FC HDD		1601 ARLINGATE LANE - DATA CENTER			24x7x4	7/1/2015	15	included	included	12	included
EMC/Brocade	EMC Connectrix EC-1500 Model B	HK19114Q1680	1601 ARLINGATE LANE - DATA CENTER		EMC Connectrix 40U Cabinet for Network	24x7x4	7/1/2015	1	included	included	12	included
EMC/Brocade	48000	2128	1601 ARLINGATE LANE - DATA CENTER		Fibre Switch	24x7x4	7/1/2015	1	\$190.00	\$190.00	12	\$2,280.00
EMC/Brocade	FC4-16 48000	HK19114Q1680-3	1601 ARLINGATE LANE - DATA CENTER		16 Port 4gb Fibre Blade with SFPs	24x7x4	7/1/2015	1	\$85.00	\$85.00	12	\$1,020.00
EMC/Brocade	FC4-32 48000	HK19114Q1680-4	1601 ARLINGATE LANE - DATA CENTER		32 Port 4gb Fibre Blade with SFPs	24x7x4	7/1/2015	1	\$115.00	\$115.00	12	\$1,380.00
EMC/Brocade	BR48KEC-CNT 48000	HK19114Q1680-2	1601 ARLINGATE LANE - DATA CENTER		Controller - Part # 250-082-900	24x7x4	7/1/2015	1	\$210.00	\$210.00	12	\$2,520.00
EMC/Brocade	EC15-PS 48000	HK19114Q1680-1	1601 ARLINGATE LANE - DATA CENTER		Power Supply Part # 071-000-324	24x7x4	7/1/2015	1	included	included	12	included
HP.	P2000	2S6023B507	1601 ARLINGATE LANE - DATA CENTER	3CL022R218	P2K0	24x7x4	8/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6109D006	1601 ARLINGATE LANE - DATA CENTER		P2KO	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6109D000	1601 ARLINGATE LANE - DATA CENTER		P2K0	24x7x4 24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6238D143	1601 ARLINGATE LANE - DATA CENTER		P2K0	24x7x4 24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HF	1 2000	2302300143	1001 ANLINGATE LAINE - DATA CENTER		1 410	244/44	//1/2013	1	\$23.00	925.00	14	\$300.00

					1							
HP	P2000	2S6023B509	1601 ARLINGATE LANE - DATA CENTER	3CL022R532	P2K1	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6238D140	1601 ARLINGATE LANE - DATA CENTER		P2K1	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6239D022	1601 ARLINGATE LANE - DATA CENTER		P2K1	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6239D023	1601 ARLINGATE LANE - DATA CENTER		P2K1	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6239D021	1601 ARLINGATE LANE - DATA CENTER		P2K1	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6239D020	1601 ARLINGATE LANE - DATA CENTER		P2K1	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6239D075	1601 ARLINGATE LANE - DATA CENTER		P2K1	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6239D076	1601 ARLINGATE LANE - DATA CENTER		P2K1	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6302C322	1601 ARLINGATE LANE - DATA CENTER		P2K2	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6305D113	1601 ARLINGATE LANE - DATA CENTER		P2K2	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6304D553	1601 ARLINGATE LANE - DATA CENTER		P2K2	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP HP	P2000 P2000	2S6249C010	1111 Broad St JHC		P2K3 P2K3	24x7x4 24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
		2S6243D349	1111 Broad St JHC			=	7/1/2015		\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6243D425	1111 Broad St JHC		P2K3	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	P2000	2S6243D350	1111 Broad St JHC		P2K3	24x7x4	7/1/2015	1	\$25.00	\$25.00	12	\$300.00
HP	Proliant DL360G5	MXQ843A4W8	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	MXQ843A4WM	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	MXQ843A4YM	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	MXQ843A4U8	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL385G5	USE847N8P0	1601 ARLINGATE LANE - DATA CENTER	LONGSVR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL385G5	USE847N8P3	1601 ARLINGATE LANE - DATA CENTER	MARCONISVR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360 G6	MXQ95000FL	1601 ARLINGATE LANE - DATA CENTER	QW3IVRTXTSP1AR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360 G6	MXQ91705B7	1601 ARLINGATE LANE - DATA CENTER	QW1EX7MBXN1AR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360 G6	MXQ91705GS	1601 ARLINGATE LANE - DATA CENTER	QW3WAMAPP4AR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	USM64700G8	1601 ARLINGATE LANE - DATA CENTER	QW9APMPROBE1AR	Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360 G7	USE129NDAZ	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360 G7	MXQ05202JK	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	7/1/2015	1	\$15.00	\$15.00	12	\$180.00
HP	C1064A	3302A24009	1601 ARLINGATE LANE - DATA CENTER	Q071100-11	Terminal	8x5xNBD	1/1/2017	1	\$8.00	\$8.00	12	\$96.00
HP	C1064A	UST9280849	1601 ARLINGATE LANE - DATA CENTER		Terminal	8x5xNBD	1/1/2017	1	\$8.00	\$8.00	12	\$96.00
HP	C1064A	UST6411166	1601 ARLINGATE LANE - DATA CENTER		Terminal	8x5xNBD	1/1/2017	1	\$8.00	\$8.00	12	\$96.00
HP	C1064A	UST7231813	1601 ARLINGATE LANE - DATA CENTER		Terminal	8x5xNBD	1/1/2017		\$8.00	\$8.00	12	\$96.00
				0.404.005 844.0				1		·		
HP	Proliant BL465cG7	USE1076XVS	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XVN	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XVX	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XW1	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XVT	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XVY	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-a721AR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE0484H9J	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-a723AR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XVV	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-a725AR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XW0	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-a741TR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE048H9H	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-a743TR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XVW	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-a745TR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XVR	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE0484FTW	1601 ARLINGATE LANE - DATA CENTER	unassigned	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XW4	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-i710AR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE0464093	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE0464091	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-i714AR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE1076XW3	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE0484FTX	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant BL465cG7	USE0484FTY	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4 24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP HP	Proliant BL465cG7	USE0464092	1601 ARLINGATE LANE - DATA CENTER	QV1BLADE-i722AR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
- "	Proliant DL580G4	USE719N34D	1601 ARLINGATE LANE - DATA CENTER	QW3FMSDB1AR	Server	24x7x4	3/1/2016	1	\$40.00	\$40.00	12	\$480.00
HP	Proliant DL380G5	USE904N03Q	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL380G4	EAWMMND345	1601 ARLINGATE LANE - DATA CENTER	QW2PVB1IL	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G6	USE106NBL7	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	USM717056T	1601 ARLINGATE LANE - DATA CENTER	QW3FMSAPP1AR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	MXQ802A64K	1601 ARLINGATE LANE - DATA CENTER	QW3TLSTAFF1AR	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G4	USM453037Z	1601 ARLINGATE LANE - DATA CENTER	QWARS804ACS	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G8	USE240FYTC	1601 ARLINGATE LANE - DATA CENTER	QV1VCJHCHost3ar	Server	24x7x4	3/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	Proliant DL360G5	USM64700FL	1601 ARLINGATE LANE - DATA CENTER		Server	24x7x4	8/1/2016	1	\$15.00	\$15.00	12	\$180.00
HP	MSL 4048 AJ037A	MXA742002S	1601 ARLINGATE LANE - DATA CENTER		Tape Library	24x7x4	9/1//16	1	\$121.00	\$121.00	12	\$1,452.00
		1	1	I	1	l .						

							CATEG	ORY TOTAL:	\$5,835.00	\$5,835.00	TOTAL ANNUAL:	\$70,020.00
HP	Proliant DL380R02	D212JZG1K357	Police HQ, 7th floor server room	Police7	Server	24x7x4	12/1/16	1	\$15.00	\$15.00	12	\$180.00
HP	C0H28A LTO-6 Tape Drive	HU1323W303	1601 ARLINGATE LANE - DATA CENTER		Tape Drive	24x7x4	9/1//16	1	\$65.00	\$65.00	12	\$780.00
HP	C0H28A LTO-6 Tape Drive	HU1311V0JY	1601 ARLINGATE LANE - DATA CENTER		Tape Drive	24x7x4	9/1//16	1	\$65.00	\$65.00	12	\$780.00
HP	MSL 2024 AG326B	MXA74401JP	1601 ARLINGATE LANE - DATA CENTER		Tape Library	24x7x4	9/1//16	1	\$63.00	\$63.00	12	\$756.00
HP	C0H28A LTO-6 Tape Drive	HUJ4230KNT	1601 ARLINGATE LANE - DATA CENTER		Tape Drive	24x7x4	9/1//16	1	\$65.00	\$65.00	12	\$780.00
HP	C0H28A LTO-6 Tape Drive	HUJ4230J0L	1601 ARLINGATE LANE - DATA CENTER		Tape Drive	24x7x4	9/1//16	1	\$65.00	\$65.00	12	\$780.00
HP	C0H28A LTO-6 Tape Drive	HUJ4230KWE	1601 ARLINGATE LANE - DATA CENTER		Tape Drive	24x7x4	9/1//16	1	\$65.00	\$65.00	12	\$780.00
HP	C0H28A LTO-6 Tape Drive	HUJ4240LJC	1601 ARLINGATE LANE - DATA CENTER		Tape Drive	24x7x4	9/1//16	1	\$65.00	\$65.00	12	\$780.00

Basic Terms: Pricing based on customer provided information and is subject to correction based on actual equipment configuration. All equipment is assumed to be in good, working condition and fully functional prior to the start of this maintenance agreement. All disk drives but SSD are included in maintenance.

Maintenance Information Sheet

Equipment Location

Address #1 1601 Arlingate Ln, Columbus, OH 43228 Address #2 1111 E Broad St Columbus, OH 43205

Source of Maintenance

NETRAID Accounts Manager

Point of Contact Matthew Langan

Phone 1-855-638-7243 (24 hour emergency assistance)

Email Support help@netraid.net

Online Management https://my.netraid.net/ (billing & support portal)

NETRAID is responsible for supplying any computer hardware and hardware maintenance support to complete the maintenance work-order.

NETRAID is also responsible for hardware time and material charges; either from a third party support group or the regional hardware maintenance support group.

Any questions can be directed to:

Company NETRAID

Address: 225 Wimpole Drive

Rochester Hills, MI 48309

Point of Contact Matthew Langan

Toll Free Phone 1-855-NETRAID x558

Direct Phone 248-971-0015

Fax 248-686-3355

Email matt@netraid.com



NETRAID Maintenance Agreement - Terms and Conditions

These TERMS AND CONDITIONS (this "Agreement") are agreed to as of the latest date indicated on the signature pages hereto, by and between NETRAID LLC, a Michigan limited liability corporation ("NETRAID"), and the undersigned ("Customer").

Effective Date July 1st, 2017

By and between City of Columbus Ohio

Located at 77 N Front Street

Columbus, OH 43215

and NETRAID LLC "NETRAID"

255 Wimpole Drive

Rochester Hills, MI 48309

in consideration of the promises made herein and intending to be legally bound, agree as follows:

1. Term

a. This maintenance Agreement begins on July 1st, 2017 with an ending date of June 31st, 2018. If the Customer wishes to abridge the assigned ending date while this contract is in effect, NETRAID requires written notice 30 days in advance of the new ending date. Once written notice is received, NETRAID shall confirm the change with the Customer and the contract shall be abridged with the new ending date.

"Customer"

b. Agreements with an annual value of less than \$5000 are understood to be non-cancellable, non-changeable, and non-refundable (unless otherwise noted).

2. Maintenance Services

- a. NETRAID shall provide maintenance on the equipment listed on the Equipment Schedule attached to this Agreement. In addition, NETRAID shall provide unscheduled remedial maintenance (on-call break/fix service) as and when needed.
- b. Services required to be initiated beyond service hours contracted for will be billed at NETRAID per call rates and terms then in effect. Maintenance will include labor and replacement of all parts deemed necessary for proper operation of equipment covered.
- c. NETRAID service liability shall be limited to restoring the equipment covered to good and operating condition. Only authorized NETRAID staff or third parties shall service the equipment covered and should the equipment sustain any damage as a result of service by staff other than NETRAID, NETRAID restoration of the equipment will be billable.
- d. Although a third party may be used as a source to provide the maintenance and related installation of the equipment listed, NETRAID is responsible for any hardware related expenses and for time and materials charges for equipment listed on the Equipment Schedule.
- e. The Customer shall notify NETRAID, in a reasonable period of time, of equipment failure, and shall allow NETRAID staff or third parties full and free access to the equipment and use of necessary equipment, machines, and devices in the Customers possession. Upon contact, NETRAID shall immediately choose the best and quickest course of action to pursue, pertaining to the existing problem or concern.
- f. Maintenance services required, in the reasonable opinion of NETRAID, because of problems external to the equipment or due to causes other than normal wear and tear, are not covered. If agreed by Customer in writing prior to being performed, such services will be billed at NETRAID per call rates and terms then in effect. Maintenance service does not include operating supplies, consumable items (such as batteries, laser maintenance kits, printer bands, etc.), or electrical work external to the equipment.
- g. NETRAID shall provide reactive firmware updates deemed necessary for normal operating condition and/or as a troubleshooting step when returning defective or downed equipment to normal operating conditions. Firmware must be obtainable by Customer or publicly available as provided by OEM.
- h. Customer agrees that NETRAID (or its affiliates) may act as customer's agent if customer requires NETRAID to use or implement any OEM tools, diagnostics, firmware, microcode, or software for which the customer is legally licensed to use and exclusive to the devices for which those licenses apply.
- Due to battery capacity deterioration and age-related degenerative effects over time, batteries will be provided to the Customer on an as-requested basis and shipped using overnight, next business day service unless otherwise specified by NETRAID.
- j. To be eligible for service by NETRAID, all equipment must be listed on the appropriate Equipment Schedule. All equipment covered by NETRAID must be in good working condition and meet the manufacturer's' minimum equipment configuration requirements and specifications. All equipment is assumed to be in good, working condition and fully functional prior to the start of this maintenance agreement.



- k. NETRAID shall provide onsite spares free of charge to the Customer. These onsite spares remain NETRAID property until they are used as a replacement. Parts, which have been replaced, shall become the property of NETRAID. Any unused onsite spares shall be returned to NETRAID upon contract termination.
- I. Customer will be responsible for the cost of any missing or unauthorized use of onsite spares while in possession of onsite spares. Missing onsite spares will be billed to Customer at current retail rates.

3. Access to Equipment

a. NETRAID's maintenance personnel, affiliated personnel, subcontractors, and personnel authorized by NETRAID to perform, shall have access to the equipment in coordination with Customer IT personnel.

4. Fees

- a. Maintenance and other recurring fees shall be invoiced annually in advance (unless otherwise noted) and are due on the first day of the service period for which the invoice is rendered. Any increase in maintenance or other recurring fees must be disclosed in writing at least thirty (30) days prior to the effective date of the increase and will become effective unless rejected in writing.
- b. NETRAID reserves the right to suspend or terminate maintenance and recurring services if such fees are not timely paid. Fees and expenses other than maintenance and other recurring fees shall be payable net 30 days.
- c. Late payments for such fees and expenses shall accrue interest, including without limitation post-judgment interest, at 5% per month.

5. Exclusions

a. NETRAID is not responsible for repairing damage resulting from, or furnishing parts required as a result of, causes other than ordinary wear and tear including, without limitation, neglect, misuse (including faulty repair or maintenance by unauthorized parties), accidents, failure of electrical power, air conditioning, humidity control, or acts of God.

Charges

- a. The Equipment Schedule may be modified upon fourteen (14) days prior written notice and all corresponding fee changes approved by Customer in writing prior to being reflected in the subsequent billing cycle.
- b. The Customer shall be responsible for contacting NETRAID at the time a piece of covered equipment is sold and/or retired. A rebate will be calculated and the monthly or yearly maintenance cost will be adjusted and/or refunded.
- c. No increase in maintenance rates shall occur while this contract is in effect.

Understood, Agreed & Accepted

IN WITNESS WHEREOF, the parties hereto have duly executed this Agreement effective as of the effective date date above:

Accepted by

	NETRAID LLC
Company Name]	[Company Name]
	Matthew Langan
Print Name]	[Print Name]
Signature]	[Signature]
	Director of Operations
Title]	[Title]
	7/1/2017
Date]	[Date]
	225 Wimpole Drive Rochester Hills, MI 48309
Address	[Address]